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YTBEPXJAIO

Hupextop KI'Y "OIILI Ne 6"

A.H.Xacenona
O.A.MomikoBa
E.B.TkaueBa
S5A 5b 5B 6A 6b 6B
BpeMsi
8.00-8.45 |1 [xa3.13 (39/15) |marem (42) |Hcr.Ka3 (38) [pyc.n3(40) MmateM(36) kaz.s3 (30)
8.50-9.35 |2 |xyn.tp.(27/41) |ka3.a3 (39/15) [marem (42) Hcr.Ka3 (38) [pyc.s13(40) MaTeM
2 9.50-10.35 |3 [marem (12) pyc.sa3(28) dus-pa kaz.s3 (39) ecrectB.(18) [pyc.a3
Z [ 10.40-11.25 |4 anrn.s3(37/34) |xyn.tp.(27/41) [kas.a3 (29/30) matem ka3.a13 (39) ecrectB.(18)
a:)( 11.40-12.25 |5 |matem (12) aHri.a3 (34/37)|pyc.a3(28) ectectB.(18) |amrm.s3(14) JTUT-pa
% 12.30-13.15 |6 |pyc.s13(28) ¢usz-pa anri.s3 (34/37) |ka.gac rI100.K HH)
= 13.20-14.05 |7 |du3-pa KJ.4ac KJ.4ac KJ.4ac KJ.4ac
KJI.Yac
BpeMsi
8.00-8.45 |1 [xaz.a3 (39/15) |ecrects.(18) |mur-pa (28) mut-pa(40) |uHD xya.tpym(27/41)
8.50-9.35 |2 |matem (12) kaz.a3 (39/15) [marem (42) Xyn.1pya(27/41 marem(36) anri.s3(14)
9.50-10.35 |3 [nuT-pa (28) Matem (42) ecrectB.(18) ka3.a13 (39) |xyzx.1pyz[(27/41 MareM
2| 10.40-11.25 [4 |anra/und(37/12{Ucr.Kasz (38)  |dus-pa MareM ¢dus-pa ka3.a13 (30)
E‘ 11.40-12.25 |5 |und/anrn(34/12|nmur-pa (28) kas.n3 (29/30)  ¢us-pa mut-pa(40) |Mcr.Kas (38)
2 12.30-13.15 |6 |Mcr.Kas (38) ¢duz-pa 1100.K HH) ka3.a13 (39) ¢bus-pa
13.20-14.05 |7
BpeMsi
8.00-8.45 |1 [xa3.13 (39/15) |marem (42) |Hcr.Beem (38) |amrm.sa3(37)  marem(36) MY3bIKa
8.50-9.35 |2 |Hct.Bcem (38) |pyc.sa3(28) Xyn.Tp. (27/41) [maTem MY3bIKa ka3.a13 (30)
9.50-10.35 |3 [pyc.s13(28) kaz.a3 (39/15) [marem (42) MY3bIKa pyc.s13(40) MaTeM
< | 10.40-11.25 [4 |matem (12) MY3bIKa ka3.i13 (29/30)  ¢wus-pa Hcr.Ka3 (38) |pyc.s3
§ 11.40-12.25 |5 |[my3bIKa anri.s3 (34/37)|pyc.a3(28) HUct.Beem (38) |kaz.a3 (39) JUT-pa
¢ 12.30-13.15 | 6 |pu3-pa HUct.Beem (38) |My3bika pyc.s3(40) anri.s3(14) ¢usz-pa
13.20-14.05 |7




BpeMs

8.00-8.45 |1 [xym.tp. (27/41) |ka3/und (39/12]|anrn.s3 (34/37) |nut-pa(40)  annnsaz(14) ecrects.(18)
8.50-9.35 |2 |matem (12) Hcr.Ka3 (38) |kas.sn3 (29/30) [marem ecrectB.(18) |amrm.s3(14)
9.50-10.35 |3 |ectectn.(18) nHdp/ka3 (12/15|marem (42) ka3.a13 (39) HUct.Beem (38) |matem
5| 10.40-11.25 |4 [nur-pa (28) Matem (42) Xya.Tp. (27/41) |ecrectB.(18) [marem(36) pyc.s3
E 11.40-12.25 |5 |ka3.13 (39/15) |ecrects.(18) |mmT-pa (28) anrsa3(37)  mut-pa(40)  |Hcr.Beem (38)
Ed 12.30-13.15 | 6 |[rm06.x mut-pa (28) ecrectB.(18) J100.K ¢usz-pa ka3.a13 (30)
13.20-14.05 |7 11100.K ¢uz-pa
BpeMsi
8.00-8.45 |1 |ecrectB.(18) pyc.s3 (28) MaTteM (42) Hcr.Ka3z (38) [ka3z.s3 (39) Xyn.1pyn(27/41)
‘5 8.50-9.35 |2 [pyc.a3 (28) Matem (42) Uct.Ka3z (38) [xaz.a13 (39) Matem(36) MaTeMm |
= | 9.50-10.35 |3 Hcr.Ka3 (38)  |anrm.a3 (34/37)|pyc.a3 (28) Xyn.1pya(27/41| pyc.s13(40) anri.s3(14)
= 10.40- 11.25 |4 |amrn.s3 (34/37) |dus-pa uHd/anra (12/34maTem xyn.Tp. (27/41)|Uct.Ka3 (38)
11.40-12.25 |5 [¢pus-pa Xya.Tp. (27/41)|aur/und (37/34pyc.n3(40) Hcr.Ka3z (38) |¢pus-pa
12.30-13.15 |6 anrmsa3(37)  |dus-pa r7100.KOM
13.20-14.05 | 7 ¢us-pa




PACIIMCAHME YYEBHBIX 3AHSITUM O Ne 6

N 76 8A 8b
BpeMs BpeMsi
8.00-8.45 |1 |xumua(21) ka3/anri(35/34)|pyc.a3(28) ka3/uad(29/12) 8.00-8.45 |1
8.50-9.35 (2 |anredpa (36) |xumms(21) kas/anrm(29/34)|und/xa3(12/35) 8.50-9.35 |2
E 9.50-10.35 |3 |Ucr.Ka3(38) |anrebdpa (36) anri/ka3(37/29)|anrebpa(42) E 9.50-10.35 |3
= | 10.40- 11.25 |4 ¢usz-pa Hcr.Ka3(38) anredpa(42) pyc.sa3(28) = | 10.40-11.25 (4
a:)( 11.40-12.25 |5 |ka3.:13(39) anri/ka3(34/35)|Ucr.Ka3(38) ¢usz-pa az 11.40-12.25 |5
% 12.30-13.15 | 6 |anrnsas(14) pyc.s3(11) ouomor(18) HUct.Kaz(38) % 12.30-13.15 | 6
= | 13.20-14.05 KJI.9ac KJI.9ac ¢us-pa ouomor(18) = 13.20-14.05
KJL.4ac KJI.Yac KJI.Yac KJI.Yac 14.10-14.55
BpeMs BpeMsi
8.00-8.45 |1 |dbusuka (19) |xaz/anrn(35/34)|xas/anrin(29/34)|Hcr.Beem(38) 8.00-8.45 |1
8.50-9.35 |2 [Hct.Becem(38) |dusuxa (19) aHri/ka3(37/29)|xas/anrn(35/37) 8.50-9.35 |2
9.50-10.35 |3 [reomerp(36) [Uct.Beem(38) |dus-pa ¢usnka (19) 9.50-10.35 |3
21 10.40- 11.25 |4 |xyn.1pyn(27/4reomerp(36)  [dusuka (19)  |anrm/xa3(34/29)] £ | 10.40- 11.25 |4
g. 11.40-12.25 |5 |ka3.:13(39) anri/ka3(34/35)|reomerp(42) ¢usz-pa g- 11.40-12.25 |5
2| 12.30-13.15 | 6 |amrnas(14)  [xymtpym(27/4]mur-pa(28) reomerp(42) 2| 12.30-13.15 | 6
13.20-14.05 Uct.Beem(38) |mmr-pa(28) 13.20-14.05
14.10-14.55
BpeMs BpeMsi
8.00-8.45 |1 |reorpad(l1) |6umomor(18) kasz/anrm(29/34)|nur-pa(28) 8.00-8.45 |1
8.50-9.35 |2 |amre6pa(36) |xaz/anrn(35/34)|anrn/xa3(37/29)/6uonor(18) 8.50-9.35 |2
9.50-10.35 |3 |Omomor(18) pyc.si3 reorpad(11) ka3.513(35/29) 9.50-10.35 |3
o | 10.40-11.25 |4 |xa3.513(39) anre6pa(36) anrebpa(42) reorpa(11) < | 10.40-11.25 |4
§ 11.40-12.25 |5 |dusz-pa anri/ka3(34/35)|xumusa(21) anrebpa(42) § 11.40-12.25 |5
1 12.30-13.15 | 6 pyc.si3 reorpad(11) ouomor(18) anri.s13(34/37) “1 12.30-13.15 | 6
13.20-14.05 r1100.K $us-pa nut-pa(28) xummsi(21) 13.20-14.05

14.10-14.55




BpeMs BpEMA
8.00-8.45 |1 |reomerp(36) |Mcr.Ka3(38) reorpad(21) reomerp(42) 8.00-8.45 |1
8.50-9.35 [2 |muT-pa reometp(36) reometp(42) anri.s3(34/37) 8.50-9.35 |2
9.50-10.35 |3 |aurmsz(14) |nuT-pa pyc.sa3(28) ¢us-pa 9.50-10.35 |3

5| 10.40- 11.25 |4 ka3.:13(39) reorpad(21) ¢usz-pa ka3.513(35/29) 5| 10.40-11.25 (4

E 11.40-12.25 |5  |dusuka(19) |¢pus-pa ka3/unp(29/12) [reorpad(21) E 11.40-12.25 |5

S 12.30-13.15 | 6 [pyc.sn3 ¢busuka(19) nH(p/xa3(12/29) [Ucr.Kaz(38) = 12.30-13.15 | 6
13.20-14.05 Hcr.Ka3(38) |rmob.x pyc.sa3(28) 13.20-14.05
reorpad(21) 14.10-14.55

BpeMs BpEMA
8.00-8.45 |1 |amredpa (36) |xa3/mH((35/12) [xmumus(21) ¢uzuka(19) 8.00-8.45 |1

S| 850935 [2 [pycss und/xa3(12/35) [Ucr.Ka3(38)  |xym.1pyn(27/4] £ 8.50-9.35 |2

E 9.50-10.35 |3 |und $us-pa $msuka(19)  [xumus(21) E 9.50-10.35 |3

Z | 10.40- 11.25 [4 [6monor(18)  |pyc.s3 nuT-pa(28) anrebpa(42) 2 [ 10.40-11.25 |4
11.40-12.25 |5 |mur-pa 6uornor(18) anredpa(42) muT-pa(28) 11.40-12.25 |5
12.30-13.15 | 6 |dus-pa JMT-pa XyA.TpyA(27/4 |rnob.x 12.30-13.15 | 6
13.20-14.05 anrebpa (36)  |r7100.K 13.20-14.05

14.10-14.55




9A 9b 9B 10A 11A
anr.s3(37) Xyn.Tpya(41) Hcr.Kaz(10) 6uomnor(18) ¢bus-pa
¢us-pa Hcr.Ka3z(10) ¢usz-pa nad(11) 6uomnor(18)
xyn.1pya(41) |xa3.s13(35/15) anr.s3(14) xumusi(21) Hcr.Kaz(10)
st-pa (40) OI1(10) kaz.sa3(15) anrebpa (36) [xumwmsa(21)
Kaz.s13(29) anrebpa(42) mmt-pa (40) Hcr.Ka3(10) |anredpa (36)
Hcr.Ka3(10)  |mur-pa (40) anrebpa(42) duz-pa rpad.u npoer
anrebpa(42)  |Cser.u penur.(10) (kia.uac nuT-pa(28) KJL.Yac
KJI.4ac KJI.4ac KJI.4ac
Hcr.Beem(10) [reomerp(42) anri.s3(14) reomerp(36) |dbusuxa (19)
pyc.s3(40) HUct.Beem(10) ouomor(18) ¢bus-pa pyc.s3(28)
Ka3.:13(29) ka3.s13(35/15) pyc.s3(40) OI1(10) auri.s13(37)
ouomor(18) pyc.s3(40) reometp(42) ka3/anrin(15/14)ka3.a361k(35)
¢usuka (19)  [6momor(18) HUct.Beem(10) anri/ka3(37/15]reomerp(36)
anr.s3(37) ¢msuka (19) kaz.sa3(15) Hcr.Beem(10) [6nomor(18)
reomerp(42) |anrm.sa3(37/14) Cser.u penur.(10) [¢pusuka (19)  [Mcr.Beem(10)
k.I'eneruka(18)|rpad.u mpoer
mut-pa (40) ¢bus-pa anri.s3(14) xumusi(21) OI1(10)
reorpad(11)  |mur-pa (40) anrebpa(42) kaz/anrn(15/14|xnmus(21)
¢muka (19)  |anrn.a3(37/14) xumusi(21) anredpa (36) |HBuTII(10)
xumusi(21) ¢msuka (19) 6uomnor(18) aHrn/ka3(37/15)kaz.n361k(35)
Kaz.s13(29) reorpad(11) kaz.sa3(15) ¢msuka (19)  [|anredpa (36)
anrebpa(42)  |xumnsa(21) ¢msuka (19) nT-pa(28) anrebpa (36)
anr.s3(37) anrebpa(42) mmt-pa (40) anredpa (36) |Puznka (19)
¢us-pa rpad.u npoer |reorpad(11)




¢us-pa nad/xaz(11/35)  |OII(10) reorpa(21) |aur-pa(28)
uad(11) reorpad(21) pyc.s3(40) pyc.s3(28) Ka3.13b61K(35)
ka3.:13(29) ka3/uad(15/11) reorpad(21) reomerp(36) |anrn.s3(37)
pyc.s3(40) ¢usz-pa ¢usnka (19) reorpap(21) |und(11)
OI1(10) reometp(42) Xyn.tpya(41) nadp/xa3(11/15)reomerp(36)
reorpa®(21) |anrn.sa3(37/14) reomerp(42) kaz/muad(15/11)reorpad
reomerp(42)  |pyc.a3(40) nad(11) rpad.u npoer |¢pus-pa
uadp(11)
Hcr.Ka3(10)  |mur-pa (40) ¢us-pa anri/ka3(37/15]x.I'enernka(18)
xumusi(21) 6uomnor(18) Hcr.Kaz(10) kaz/anrn(15/14|pus-pa
¢us-pa Hcr.Kaz(10) anrebpa(42) anredpa (36) |anrm.s3(37)
mmt-pa (40) kaz.a13(35/15) xumusi(21) Hcr.Ka3(10) |anredpa (36)
Cser.n pemur. (| xumns(21) kaz.a3(15) ¢us-pa Ka3.sa3bIK(35)
6uomnor(18) anrebpa(42) mt-pa (40) HBuTII(10) |nuT-pa(28)
anrebpa(42)  |dusz-pa reorpad(11) 6uomnor(18) Hcr.Kaz(10)




